SHSEE

EHTIERWPER FRTEFPE

R5/10/313R 1%

10R 11A 12R 18 2R 3A
=] ERITRE = ERITRE B | & FRITRE B | & FRITRE B | & FRITRE B | & ERITEE
i\ 1| & |LehgBoR B esyionen 1| A |8 1| & |—FFRR 0 BE
2 | A |BERE 2 | K 2 | £ 2| X 2 | & 2 | £
3| K 3 | & |xXtnH 3|1 H 3|k 3| x 3| H
4 | K|=FTRAED 4 | £ |ZEADEY 4| A |BERE 4| K 4| H 4R
5| K 5 | B |ZEANEY 5 | K |RENPEE. K. %, EH) 5| € 5| A 5 | K [AIERAR(ERN)
6% 6| A 6 | K 6| £ 6 | K 6 | /K |AZEHAR (HEH)
7|t 7| K 7| KRB SE=FEH 718 7 | 7k 7| K |PTAEEES
8| A 8 | K[EEFERER) 8 | & (MXRBH=-SE=FEM 8 | A [FADE 8 | N [BEMRTRAMEEFR 8 | £
9 | A [RF—yDAE 9 [ K 9 | £ 9 | K ﬁ*gféé,fﬁi 9| % ;ﬁﬁggﬁ 9 | £ |Z=xH
10| & [FEFRMEERR HEBEEL 0| % 0|\ 10| % 10| & [BR2TIVITITAATE | g
1| K |HREERED) 1|+ 1s: HE 1| B [gEERSOR 1| A R s
12K 12| A 12| X [BIRBH=E-SF=FEH 121 % 12| A [{R&KA 12| &
13| & 13| A |BE=E 13 K |HARBRE-3E=FEH 13| £ 13 K 13| K |=FTARHE)
14| £ 14| & 14 K 14| B 14| K 14| K |AIERERRER
15| B |LERREDA 15| K 15 | & [—FTRMEH) 15| A 15| K |BFEHRTAE 15| &
16 | A |$ETRE 16| K 16 | £ 16| X 16 | & [SFHRT AL 16 | £
17 & 17| & |SEHRTAMERFER 17| B |LERREDA 17| K [—&FTRE) 17| 17| B [LERREDA
18] K 18 | & [ H (AM) 18] A 18] K 18| B [LERREDAH 18| A |BERE
19 | & 19| B [2ERRS(CL) LhxEOR  |19| X 19| & 0| B [BOER  emax mEmes | 10| X [rEseEr
20| & 20 | A [IREAEHE 20 | K 20| £ 20 | K 20 | Xk [FEH0A
21 |  |[EEMFIWK 21| & |1-26 885k 7 R MRS 21 | & |1-2@mkT R EERR HEDEL | 21 | B [LeshzrEoE 21| % 21 | K |temBiE
22| A 22 | K |[iRERER 2| % 22| A 2| K |MEDAH 2| % zﬁk_‘g%zﬁ%ggﬁﬁmu
23| A 23 | K |#hrR#OA MEHEL 23| £ [FoHUTINaLTRANRE RS (KH) 23| & 23 | & [REFLEH 23| +
24| K 24 | & |NEE= 24| B |7oH2INaTANERE (KA) 24| 7k 24| £ 24| A
25 | K [RER= (ZH) 25| + 25| A ff;tg;}iﬁ’m mAR®E 25| K 25| B 25| B
26 | & 26| B 26 | K |ZFEAKE(1/8FT) 26| £ 26| A |1 2EHAKRTRE 26 | X
27 | & |RHEHEARS (FRTHIRE) 27| A |BEHRTAH 27| Kk 27| = 27| X |1, 2EHRTRH 27| X
28 | £ 28 | K |BEHRT AL 28 28| A 28 | Kk 28| K
29| A 29 | 7k 29| & 29| A |BESE 29| K 29| &
30| A |BESE 30 | K |1 -2FEHKRTRE 30| £ 30 | K 30|+
3| Kk 31| B 31| 5k 31| B




